
 

Test of knowledge 

AApppplliieedd  EEccoollooggyy  ooff  GGaammee  

Mortality is:  

a) the scientific term for birth rate 

b) the scientific term for state of being mortal, or susceptible to death. 

c) the distribution of animals among various ages. 

 

Density is: 

a) measurement of population per unit area or unit volume. 

b) the relative representation of a species in a community. 

c) the distribution of animals among various ages. 

 

Red deer belongs to: 

a) order: Artiodactyla, suborder: Ruminantia, family: Cervidae 

b) order: Artiodactyla, suborder: Nonruminantia, family: Cervidae 

c) order: Artiodactyla, suborder: Cervinantia, family: Cervidae 

 

Preserve for ungulates must be fenced and min. area is: 

a) 50 ha 

b) 500 ha 

c) 1000 ha 

 

Person on the hunt must have: 

a) valid hunting licence, valid hunting permit, compulsory insurance, shooting hat 

b) valid hunting licence, valid hunting permit, compulsory insurance, shooting licence 

c) valid hunting licence, valid fishing permit, compulsory insurance, shooting licence 

Among to concentrate selectors belong: 

a) red deer, chamois 

b) mouflon, sheep 

c) moose, roe deer  

Among to grass/roughage eaters belong: 

a) red deer, chamois 

b) mouflon, sheep 

c) moose, roe deer 

Among the causes of landscape fragmentation belong: 

a) construction of roads and highways 

b) construction of hunting equipments 

c) establishment of hunting grounds 

 

Shotgun is used for hunting (in CR) this game: 

a) ducks, hare, red fox, pheasant, mole 

b) hare, red fox, bear, pheasant, ducks 

c) pheasant, hare, ducks,  pigeon   



 

FACE is: 

a) the official abbreviation of international federation 

b) the official abbreviation of social network 

c) the official abbreviation of feeds for game 

Haylofts is construction for: 

a) hunting 

b) feeding 

c) shooting 

Common pheasant is: 

a) polygamous 

b) monogamous 

c) polyandrous 

The greatest hunting organization in Czech Republic is: 

a) CIC 

b) MDŽ 

c) ČMMJ 

The current annual blasting of wild pigs is about: 

a) 14 000 individuals 

b) 140 000 individuals 

c) 630 000 individuals 

Between general principles of estimating age of living hoofed game does not belong: 

a) behaviour 

b) time of the day 

c) colour of eyes 

Population is: 

Herbivore is (and 5 examples): 

Fertility is: 

Hunting season of brown bear is (in CR): 

Wild boar causes these damages: 

Among the direct methods of counting animals include (3): 

Provide 4 species of the suborder Ruminantia that occurs in nature (in CR) and is not original: 

The causes of the growth abundance of wild pigs are: 

Commensalism is: 

Habitat is: 

Specify 3 types of game preserve: 

Caruncles are: 

C.I.C. is: 

Hunting season of sika deer is (in CR): 

Explain the term “pheasantry”: 

 

 



 

Determine this game and describe it: 

 

 

 

 

 

 

    


